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JUNIOR SCIENTIFIC OFFICER IN TAMIL NADU FORENSIC SCIENCES 
SUBORDINATE SERVICE – 23/07/2023 

 
1. Match correctly the articles of the Indian Constitution with their corresponding 

constitutional doctrines: 
A. Article 13   1. Doctrine of Territorial nexus 
B. Article 31   2. Doctrine of Pith and Substance 
C. Article 245   3. Doctrine of Eclipse and severability 
D. Article 246  4. Doctrine of Eminent Domain 
 A B C D 
a. 1 3 4 2 
b. 3 1 2 4 
c. 3 4 1 2 
d. 2 4 3 1 
e. Answer not known 
,e;jpa murpayikg;Gr; rl;lj;jpd; fPo;f;fhZk; ruj;Jfis mtw;Wf;fhd murpayikg;Gf; 
Nfhl;ghl;Lld; nghUj;Jf: 
A. rl;lg; gphpT 13  1. Ml;rpg; gug;gpizTf; Nfhl;ghL 
B. rl;lg; ghpT 31  2. cl;fU kw;Wk; mbg;gil nghUs; $W Nfhl;ghL 
C. rl;lg; gphpT 245  3. ,ilkiwg;G kw;Wk; gphpgLk; jd;ikf; Nfhl;ghL 
D. rl;lg; gphpT 246  4. nrhj;njLg;Ghpikf; Nfhl;ghL 
 A B C D 
a. 1 3 4 2 
b. 3 1 2 4 
c. 3 4 1 2 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

2. Consider the following statements, and choose the incorrect answer: 
A. The president is a constituent part of parliament. 
B. He may sit (or) participate in the discussion  in either of the two houses. 
C. The president cannot promulgate ordinance having the same effort and effect on the 

law passed by the parliament. 
D. When both the houses of parliament are not in session, the president can 

promulgate ordinance. 
a. (b) and (c) only   b. (c) and (d) only  c. (a) and (c) only 
d. (a) and (d) only   e. Answer not known 
fPo;f;fz;l $w;Wf;fisf; fUjTk;> jtwhd $w;Wfisf; fz;lwpf: 
A. FbauR jiyth; ghuhSkd;wj;jpd; Xh; mq;fk; Mthh;. 
B. mth; ,uz;L ghuhSkd;w mitfspYk; mkuyhk; (m) tpthjj;jpy; gq;nfLf;fyhk;. 
C. ghuhSkd;wk; ,aw;Wk; rl;lq;fs; Nghy Kaw;rp kw;Wk; tPr;rpy; FbauR jiytUk; 

mtru rl;lq;fs; ,aw;w KbahJ. 
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D. ghuhSkd;wj;jpd; ,uz;L mitfSk; mkh;tpy; ,y;yhj nghOJ FbauR jiyth; 
mtru rl;lk; ,aw;w KbahJ. 

a. (b) kw;Wk; (c) kl;Lk;    b. (c) kw;Wk; (d) kl;Lk; 
c. (a) kw;Wk; (c) kl;Lk;    d. (a) kw;Wk; (d) kl;Lk; 
e. tpil njhpatpy;iy 
 

3. Which of the following statements are true about the two houses of Parliament? 
(1) The two houses of Parliament enjoy equal rights except financial matters. 
(2) A Money Bill cannot be introduced in Rajya Sabha. 
(3) Rajya Sabha may discuss the Annual Financial statement but it has not power to 

vote the Demand for grants. 
a. (1) only   b. (1) and (2) only  c. (2) and (3) only 
d. (1), (2) and (3)  e. Answer not known 
rhpahd gjpiy Njh;e;njLf;fTk; : ehlhSkd;wj;jpd; ,U mitfspYk; gpd;tUk; 
$w;Wfspy; vJ cz;ik? 
(1) ghuhSkd;wj;jpd; ,U mitfspYk; epjp tptfhuq;fs; jtpu midj;J JiwfspYk; 

rk mjpfhuk; kw;Wk; rk (me;j];J) chpik mDgtpf;fpd;wd. 
(2) uh[;a rghtpy; gz kNrhjhit mwpKfg;gLj;j KbahJ. 
(3) uh[;a rghtpy; tUlhe;jpu epjpepiy mwpf;ifia tpthjpf;fyhk;. Mdhy; khdpa 

Nfhhpf;iffspy; thf;fspf;Fk; mjpfhuk; ,y;iy. 
a. (1) kl;Lk;   b. (1) kw;Wk; (2) kl;Lk; c. (2) kw;Wk; (3) kl;Lk; 
d. (1)> (2) kw;Wk; (3) e. tpil njhpatpy;iy 
 

4. Match the following: 
International Conventions      Year 
A. Convention on the Rights of child    1. 1984 
B. Declaration on the Rights to Development   2. 1979 
C. Convention on the Elimination all forms    3. 1986 
of discrimination against women  
D. Convention against Torture cruel, inhuman Treatment 4. 1989 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 4 2 3 1 
d. 3 2 1 4 
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;Jf: 
rh;tNjr khehL     Mz;L 
A. Foe;ijfs; chpikfs; kPjhd; khehL  1. 1984 
B. Nkk;ghl;L chpik kPjhd gpufldk;  2. 1979 
C. ngz;fSf;F vjpuhd vy;yh tpjkhd  
ghFghLfis xopf;Fk; khehL   3. 1986 
D. rpj;jutij> nfhLik> kdpj jd;ikaw;W  
elj;Jjy; Mfpatw;wpf;F vjpuhd khehL  4. 1989 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 4 2 3 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
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5. Assertion (A): Right to Information is necessary to empower the people in India. 
Reason (R):  Reduces scope of corruption in Public Administration. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true; and [R] is the correct explanation is [A]. 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true; but [R] is not the correct explanation of [A]. 
e. Answer not known 
$w;W [A]:  ,e;jpahtpy; kf;fs; mjpfhuk; ngWtjw;Fj; jfty; mwpAk; chpik 
    mtrpak;. 
fhuzk; [R]:  nghJ eph;thfj;jpy; Coy; nra;tjw;fhd rhj;jpaq;fisf; 

    Fiwf;fpwJ. 
a. [A] rhpahdJ [R] jtwhdJ. 
b. [A] kw;Wk; [R] Mfpait rhpahdit [R] MdJ [A] tpd; rhpahd tpsf;fkhFk;. 
c. [A] jtwhdJ> [R] rhpahdJ 
d. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhpahdit> Mdhy; [R], [A] rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
6. Assertion [A]: Indian Constitution is a rationally deliberated moral document. 

Reason [R]:  Indian Constituent Assemble was a site where different interest 
    groups debated for a negotiated settlement. 
a. [A] is true but [R] is false 
b. [A] is false, [R] is true 
c. Both [A] and [R] are true; and [R] is the correct explanation is [A]. 
d. Both [A] and [R] are true; but [R] is not the correct explanation of [A]. 
e. Answer not known 
$w;W [A]: gFj;jwpTld; tpthjpf;fg;gl;l Xh; xOq;F Kiw MtzNk ,e;jpa 
   murpayikg;Gr; rl;lk; MFk;. 
fhuzk; [R]: gy;NtW fUj;Jila FOf;fs; $bf; fye;J tpthjpj;Jj; jq;fSf;Fs; Xh; 
   xg;ge;jj;ij vl;ba ,lNk ,e;jpa murpay; mikg;Gr; rigahFk;. 
a. [A] cz;ik; Mdhy; [R] jtW 
b. [A] jtW; Mdhy; [R] cz;ik 
c. [A] kw;Wk; [R] ,uz;LNk rhp; mj;Jld; [R] vd;gJ [A] tpw;fhd rhpahd tpsf;fkhFk;. 
d. [A] kw;Wk; [R] ,uz;LNk rhp; Mdhy; [R] vd;gJ [A] tpw;fhd rhpahd tpsf;fkhfhJ. 
e. tpil njhpatpy;iy 
 

7. Which of the following Articles given below provide for a council of ministers to aid 
and advice the Governor of a state? 
a. Article 160   b. Articles 162  c. Articles 163 

d. Article 164   e. Answer not known 
fPNo fhzg;gLk; vr;rl;lg; ghpT khepyj;jpd; MSeUf;F topfhl;l kw;Wk; mwpTiu $w 
Xh; mikr;ruitf; FO Njit vd;W $Wfpd;wJ? 
a. rl;lg; gphpT 160  b. rl;lg; gphpT 162  c. rl;lg; gphpT 163 
d. rl;lg; gphpT 164  e. tpil njhpatpy;iy 
 

8. Which of the following is in-correctly paired: 
(1) Right to Information Act – 2005 
(2) Freedom of Information Act – 2002. 
(3) Official Secret Act – 1920 
a. (1) and (2) only   b. (1) and (3) only  c. (2) only 
d. (3) only    e. Answer not known 
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fPo;tUtdtw;Ws; vJ/vit jtwhfg; nghUj;jg;gl;Ls;sij nghUj;J: 
(1) jfty; mwpAk; chpikr; rl;lk; - 2005 
(2) jfty; ngWk; Rje;jpuk; - 2002 
(3) mYtyf ,ufrpar; rl;lk; - 1920 
a. (1) kw;Wk; (2) Mfpad kl;Lk;    b. (1) kw;Wk; (3) Mfpad kl;Lk; 
c. (1) kl;Lk;       d. (3) kl;Lk; 
e. tpil njhpatpy;iy 
 

9. Match the following: 
A. C. Rangarajan   1. 13th Finance Commission 
B. N.K. Singh    2. 14th Finance Commission 
C. Dr. Y.V. Reddy   3. 15th Finance Commission 
D. Dr. Vijay L. Kelkar  4. 12th Finance Commission 
 A B C D 
a. 4 2 1 3 
b. 4 3 2 1 
c. 1 2 3 4 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf: 
A. C. uq;fuh[d;   1. 13 tJ epjpf; FO 
B. N.K. rpq;    2. 14 tJ epjpf; FO 
C. Dr. Y.V. nul;b   3. 15 tJ epjpf; FO 
D. Dr. tp[a; L. Nfy;fh;  4. 12 tJ epjpf; FO 
 A B C D 
a. 4 2 1 3 
b. 4 3 2 1 
c. 1 2 3 4 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

10. As per the 2011 census, the Sex Ration in India was 
a. 927  b. 972  c. 940  d. 964  e. Answer not known 
2011 kf;fs; njhif fzf;fPl;bd;gb> ,e;jpahtpd; ghypd tpfpjk; 
a. 927  b. 972  c. 940  d. 964  e. tpil njhpatpy;iy 
 

11. National Food Security Act was introduced in the year 
a. 2012 b. 2013 c. 2014  d. 2015 e. Answer not known 
czT ghJfhg;Gr; rl;lk; nfhz;Ltug;gl;l Mz;L 
a. 2012 b. 2013 c. 2014  d. 2015 e. tpil njhpatpy;iy 
 

12. Economic development will be sustainable only if it is pursued in a manner which 
protects 
a. The Energy   b. The Agriculture  c. The Employment 
d. The Environment  e. Answer not known 
nghUshjhu tsh;r;rp ePbj;J epiyahdjhf ,Uf;f Ntz;Lkhdhy; vijj; njhlh;e;J – 
fhj;Jg; Ngz Ntz;Lk; 
a. Mw;wy;    b. tptrhak;   c. Ntiy tha;g;G 
d. Rw;Wr;#oy;   e. tpil njhpatpy;iy 
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13. The industrial policy resolution 1956 was adopted in order to achieve the aim of  
a. Capitalism    b. Socialism   c. Mixed Economy 
d. All of the above   e. Answer not known 
1956 Mk; Mz;L njhopy; nfhs;ifj; jPh;khdk; ve;j ,yf;if miltjw;fhf 
mky;gLj;jg;gl;lJ? 
a. Kjyhspj;Jtk;   b. rkj;Jtk;   c. fyg;Gg; nghUshjhuk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

14. C. Rangarajan Committee has fixed the poverty line as 
a. Rs. 25 for rural and Rs. 50 for urban per day 
b. Rs. 30 for rural and Rs. 60 for urban per day 
c. Rs.32 for rural and Rs. 47 for urban per day 
d. None 
e. Answer not known 
C. nuq;fuh[d; fkp~d; ,e;jpahtpd; Vo;ikf; Nfhl;Lf;fhd mstPil ,t;thW 
nfhLj;Js;sJ. 
a. &.25 fpuhkk; &.50 efh;g;Guk;   b. &. 30 fpuhkk; &. 60 efh;g;Guk; 
c. &. 32 fpuhkk; &. 47 efh;g;Guk;   d. vJTk; ,y;iy 
e. tpil njhpatpy;iy 
 

15. Hydrocarbon vision 2030 is associated with 
a. Madhya Pradesh   b. Maharashtra  c. South India 
d. North East India   e. Answer not known 
2030 i`l;Nuhfhh;gd; njhiyNehf;F ____ cld; njhlh;GilaJ. 
a. kj;jpag; gpuNjrk;   b. kfhuh~;l;uh  c. njd; ,e;jpah 
d. tl fpof;F ,e;jpah  e. tpil njhpatpy;iy 
 

16. Integrated Child Development Services (ICDS) targeted at children upto the age of  ___ 
years. 
a. 5 years   b. 6 years   c. 7 years 
d. 10 year   e. Answer not known 
xUq;fpize;j Foe;ijfs; Nkk;ghl;Lr; Nritfs; (ICDS) ____ tiuapyhd Foe;ijfis 
,yf;fhff; nfhz;lJ. 
a. 5 taJ   b. 6 taJ   c. 7 taJ 
d. 10 taJ   e. tpil njhpatpy;iy 
 

17. The term “Missing Women” phenomenon occurs due to  
a. Perference for a son/male child   b. Inadequate data 
c. Women trafficking     d. Early marriage of girl child 
e. Answer not known 
“ngz; ,d ,og;G” vd;W nrhy;yhl;rp cUthtjw;Ff; fhuzkhd #oy; 
a. kfd; my;yJ Mz; Foe;ijf;fhd tpUg;gk;   
b. NghJkhd juT ,y;iy 
c. ngz;fs; flj;jy;      
d. ngz; Foe;ijapd; rpWtaJ jpUkzk; 
e. tpil njhpatpy;iy 
 

18. Choose the wrong matches type: 
Which of the following is incorrectly paired? 
1. NBCFDC - National Backward Classes Finance and Development Council 
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2. OBCS  - Other Backward Classes 
3. NCBC - National Committee for Backward classes 
4. SCDC - Scheduled caste Development Corporation 
a. 1 and 2 are correct  b. 1 and 3 are correct c. 3 and 4 are correct 
d. 2 and 3 are correct  e. Answer not known 
jtwhd nghUj;jj;ijj; Njh;e;njLf;f. 
fPo;f;fhz;gtw;wpy; vit jtwhfg; nghUe;jpAs;sd? 
1. NBCFDC - Njrpag; gpw;gLj;jg;gl;Nlhh; epjp kw;Wk; tsh;r;rpf;FO 
2. OBCS - gpw gpw;gLj;jg;gl;l tFg;gpdh; 
3. NCBC - gpw;gLj;jg;gl;NlhUf;fhd Njrpaf; FO 
4. SCDC - jho;j;jg;gl;Nlhh; tsh;r;rpf; fofk; 
a. 1 kw;Wk; 2 rhpahdit    b. 1 kw;Wk; 3 rhpahdit 
c. 3 kw;Wk; 4 rhpahdit    d. 2 kw;Wk; 3 rhpahdit 
e. tpil njhpatpy;iy 
 

19. Arrange the schemes chronologically: 
1. Cradle Baby scheme 
2. Tamil Nadu Mid day meal programme 
3. Muthu Lakshmi (Reddy) Maternity Benefit scheme 
4. Tamil Nadu Integrated Nutrition Programme 
a. 2, 4, 3, 1   b. 4, 2, 3, 1    c. 3, 4, 2, 1  
d. 3, 4, 1, 2   e. Answer not known 
jpl;lq;fisf; fhythpirg;gb mikf;f. 
1. njhl;by; Foe;ijj; jpl;lk; 
2. jkpo;ehL kjp czTj; jpl;lk; 
3. Kj;Jnyl;Rkp (nul;b) kfg;NgWj; jpl;lk; 
4. jkpo;ehL xUq;fpize;j Cl;lr;rj;Jj; jpl;lk; 
a. 2, 4, 3, 1   b. 4, 2, 3, 1    c. 3, 4, 2, 1  
d. 3, 4, 1, 2   e. tpil njhpatpy;iy 
 

20. Which is/are true of the following? 
(i) In 2005 the World Bank approved the Tamil Nadu Health System Project. 
(ii) The total cost of the project is Rs. 597.15 crores. 
(iii) The involvement of World Bank in extremely advantageous 
a. (i) and (ii) only  b. (i) and (iii) only  c. (i) only 
d. (i), (ii) and (iii)  e. Answer not known 
fPo;fhz;gtw;Ws; vJ cz;ik ahJ? my;yJ vit cz;ikahdit? 
(i) 2005 ,y; cyf tq;fp jkpo;ehL Rfhjhu mikg;G jpl;lj;jpw;F xg;Gjyspj;jJ. 
(ii) ,j;jpl;lj;jpd; nkhj;j nryT njhif &. 597.15 Nfhb 
(iii) cyf tq;fpapd; <LghL mjpfsT gaDs;sjhf cs;sJ. 
a. (i) kw;Wk; (ii) kl;Lk;    b. (i) kw;Wk; (iii) kl;Lk; 
c. (i) kl;Lk;      d. (i), (ii) kw;Wk; (iii) midj;Jk; 
e. tpil njhpatpy;iy 
 

21. Match the following: 
Movement    Reformers 
A. Brahmo Samaj   1. Natesan 
B. SNDP    2. E.V. Ramaswamy 
C. Justice Party   3. Sri Narayana Guru 
D. Self Respect Movement   4. Raja Ram Mohan Roy 
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 A B C D 
a. 2 3 1 4 
b. 4 3 1 2 
c. 4 1 2 3 
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf. 
,af;fk;   rPh;jpUj;jthjp 
A. gpuk;k rkh[;  1. eNlrd; 
B. SNDP   2. <.nt. uhkrhkp 
C. ePjpf;fl;rp   3. = ehuhaz FU 
D. Rakhpahij ,af;fk; 4. uh[h uhk; Nkhfd;uha; 
 A B C D 
a. 2 3 1 4 
b. 4 3 1 2 
c. 4 1 2 3 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

22. Revolutionary movement mainly focuses on  
a. Adoption of new models   b. Adoption existing model 
c. Reverse the current trends   d. Adoption cultural model 
e. Answer not known 
Gul;rpf;fu ,af;fk; Kf;fpakhff; ftdk; nrYj;JtJ 
a. Gjpatdtw;iw Vw;Wf;nfhs;fpd;wJ  b. eilKiwia Vw;Wf;nfhs;fpd;wJ 

 c. Gjpa Kiwia jpUg;gp mDg;GfpwJ  d. fyhr;rhu khjphpia Vw;Wf;nfhs;fpwJ 
e. tpil njhpatpy;iy 
 

23. Choose the right answer among type: 
Which of the following statements are true about M.S.A Rao? 
(i) He was the prominent Indian sociologists 
(ii) He point out, social movements includes two characteristics are collective action 

and oriented towards social change. 
(iii) He started a social reform movement called the “Non-Brahmin movement”. 
a. (i) only   b. (i) and (iii) only  c. (i) and (ii) only 

d. (ii) and (iii) only  e. Answer not known 
 rhpahdtw;iw Njh;e;njLf;fTk;. 

fPo;fz;l $w;Wfspy; M.S.A. uht; gw;wpa rhpahdtw;iwj; Njhe;njLf;fTk;. 
(i) ,th; jiyr; rpwe;j ,e;jpa r%ftpayhsh; 
(ii) r%f ,af;fq;fs; ,U gz;Gfis cs;slf;fpait> xd;W> $l;Lr; nray;ghL 

kw;nwhd;W r%f khw;wj;jpw;F topNaw;gLj;Jgit vdf; Fwpg;gpLfpwhh;. 
(iii) “gpuhkzuy;yhNjhh; ,af;fk;” vd;w r%fr; rPh;jpUj;j ,af;fk; ,tuhy; 

Njhw;Wtpf;fg;gl;lJ. 
a. (i) kl;Lk;    b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

24. Choose the correct statements: 
Tamil Nadu Higher education Assurance scheme 2022 provides: 
(i) Financial assistance to the girls 
(ii) Financial assistance to the boys and girls 
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(iii) Financial assistance to the third gender 
(iv) Financial assistance to the parents 
a. (i) and (iv)   b. (ii) and (iv)  c. (i) only 
d. (ii) only   e. Answer not known 
rhpahd mwpf;ifiaj; Njh;T nra;f. 
jkpo;ehL cah;fy;tp cWjpj; jpl;lk; 2022 toq;FtJ : 
(i) khztpfSf;F epjp cjtp 
(ii) khzth; khztpaUf;F epjpAjtp 
(iii) %d;whk; ghypdj;jth;fSf;F epjpAjtp 
(iv) ngw;NwhUf;F epjpAjtp 
a. (i) kw;Wk; (iv)  b. (ii) kw;Wk; (iv)  c. (i) kl;Lk; 
d. (ii) kl;Lk;   e. tpil njhpatpy;iy 
 

25. In India E-Governance was started in ____ state.  
a. New Delhi   b. Kerala   c. Tamil Nadu 
d. Karnataka   e. Answer not known 
kpd; MSif (E-Governance) ,e;jpahtpy; _____ khepyj;jpy; njhlq;fg;gl;lJ. 
a. GJ jpy;yp   b. Nfush   c. jkpo; ehL 
d. fh;ehlfh    e. tpil njhpatpy;iy 
 

26. Who translated the book, “Thirunelveli Charithiram’ into English? 
a. Rhenius Iyer    b. Ellis Durai   c. Caldwell 

d. Ziegenblag   e. Answer not known 
‘jpUney;Ntypr; rhpj;jpuk;’ vd;Dk; E}iy Mq;fpyj;jpy; nkhopg;ngah;j;jth; ahh;? 
a. ,NudpA]; Iah;   b. vy;yp]; Jiu  c. fhy;Lnty; 
d. rPfd; ghy;F Iah;   e. tpil njhpatpy;iy 
  

27. Which of the following statements are true about Kattabomman? 
(i) Jackson agreed to meet Kattabomman at Ramalinga Vilas in Ramanathapuram. 
(ii) Kattabomman was hanged by the British 
(iii) He was defeated at Kalakkadu Battle 
(iv) He was a brother of Velu Nachiyar 
a. (iv) only correct   b. (ii) and (iii) are correct  c. (iii) and (iv) are correct 
d. (i) and (ii) are correct e. Answer not known 
fPo;f;fhz;gitfspy; fl;lnghk;kidg; gw;wpa jfty;fspy; vit rhpahdit? 
(i) [hf;rd; ,uhkehjGuj;jpy; cs;s ,uhkypq;f tpyhrpy; fl;lnghk;kid re;jpf;f 

,ire;jhh;. 
(ii) fl;lnghk;kd; Mq;fpNyah;fshy; J}f;fpyplg;gl;lhh; 
(iii) ,th; fsf;fhL Nghhpy; Njhw;fbf;fg;gl;lhh; 
(iv) ,th; NtYehr;rpahhpd; rNfhjuh; Mthh; 
a. (iv) kl;Lk; rhp  b. (ii) kw;Wk; (iii) rhp  c. (iii) kw;Wk; (iv) rhp 
d. (i) kw;Wk; (ii) rhp  e. tpil njhpatpy;iy 
 

28. Who was the founder of Kanchi Mahila Parishad in Kanjeepuram? 
a. Dr. Muthulakshmi  b. Smt. Parvati Devi c. Smt. Rukmani Devi 
d. Smt. Valliammal   e. Answer not known 
fhQ;rp kfpsh ghp~j;ij fhQ;rpGuj;jpy; epWtpath; ahh;? 
a. lhf;lh;. Kj;Jnyl;Rkp  b. jpUkjp ghh;tjp Njtp c. jpUkjp Uf;kzp Njtp 
d. jpUkjp ts;spak;khs;  e. tpil njhpatpy;iy 
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29. Which of the following is not related to Palani conspiracy? 
(i) Rebels decided to attack Coimbatore  
(ii) Colonel K. Macalister Launched an offensive attack 
(iii) Khan-i-Jah Khan took the command of horses 
(iv) The cavalry of Rani Lakshmibai took part in Palani conspiracy 
a. (iv) only   b. (i) and (ii) only   c. (ii) only 
d. (ii) and (iii) only  e. Answer not known 
fPo;fhz;gtw;Ws; godp rjpahNyhridNahL njhlh;gpy;yh epfo;T vJ? 
(i) Gul;rpahsh;fs; Nfhak;Gj;J}iu jhf;f jPh;khdpj;jdh;. 
(ii) fhh;dy; K. kfyp];lh; Nghh;g;gilj; jhf;Fjiyj; njhlq;fpdhh;. 
(iii) fhd;-,-[h`;fhd; Fjpiug;gilf;F jiyikj; jhq;fpdhh; 
(iv) godp rjpahNyhridapy; uhzp yl;Rkpghapd; Fjpiug; gil gq;F ngw;wJ. 
a. (iv) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk;  c. (ii) kl;Lk; 
d. (ii) kl;Lk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

30. Choose the right answer: 
Which of the following statements is true about the trade activities of ancient 
Tamilagam? 
(i) Kaveri Pumpattinam was also known as Anuradhapuram 
(ii) There were two kinds of markets such as Allangadi and Nallangadi 
(iii) Yavanars had trade contracts with ancient Tamils 
a. (i) only   b. (ii) and (iii) only   c. (i) and (ii) only 
d. (i) and (iii) only  e. Answer not known 
rhpahd tpiliaj; Njh;NjLf;f. 
gz;ila fhyj; jkpoh;fspd; tzpf (njhlh;G eltbf;if) gw;wp gpd;tUk; $w;wpy; vJ 
cz;ikahdit? 
(i) fhtphpg;G+k;gl;bdk;> mDuhjGuk; vd;Wk; miof;fg;gl;lJ. 
(ii) my; mq;fhb kw;Wk; ehs; mq;fhb vd;W ,uz;L tif re;ij ,Ue;J te;jJ 
(iii) goq;fhy jkpoh;fNshL atdh;fs; tzpfj; njhlh;G nfhz;bUe;jdh;. 
a. (i) kl;Lk;   b. (ii) kw;Wk; (iii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. (i) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

31. Which literature describes Pasumpoon Pandiyan, the Sanga King to have had white 
flags flying on his Elephants? 
a. Agananooru  b. Purananooru  c. Kalithogai 
d. Paripaadal   e. Answer not known 
rq;ffhy kd;ddhd gRk;G+z; ghz;badpd; ahidfspd; Nky; nts;isf; nfhb gwe;jJ 
vd;w nra;jpiaf; $Wk; E}y;? 
a. mfehD}W   b. GwehD}W   c. fypj;njhif 
d. ghpghly;   e. tpil njhpatpy;iy 
 

32. Which of the following books was not written by Viramamunivar? 
a. Thirukavalur Kalambakam   b. Satyaveda Keerthanai 

c. Annai Alungal Anthaathi   d. Adaikkala Maalai 
e. Answer not known 
gpd;tUtdtw;Ws; tPukhKdpth; vOjhj E}y; vJ? 
a. jpUf;fhtY}h; fyk;gfk;    b. rj;jpa Ntjf; fPh;j;jid 
c. md;id mOq;fy; me;jhjp   d. milf;fy khiy 
e. tpil njhpatpy;iy 
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33. If morality rules the household; what are the benefits of such an household? 
a. Wealth   b. Makkatperu  c. Fame 
d. Competition  e. Answer not known 
“kq;fyk; vd;g kidkhl;rp kw;W mjd; ed;fyk;” – vJ? 
a. nry;tk;   b. kf;fl;NgW   c. Gfo; 
d. Nghl;b   e. tpil njhpatpy;iy 
 

34. What kind of knowledge can be learnt from ‘Sirupanjamoolam’? 
a. Knowledge of Maths    b. Knowledge of Science 
c. Knowledge of Medicine   d. Knowledge of Astronomy 
e. Answer not known 
‘rpWgQ;r%yk;’ vd;w E}ypd; %yk; vt;tifahd mwpitg; ngw KbAk;? 
a. fzpj mwpT   b. mwptpay; mwpT  c. kUj;Jt mwpT 
d. thdtpay; mwpT   e. tpil njhpatpy;iy 
 

35. What constitutes Integrity? What are the constitutes of “Vaimai Kudikku uriyana”? 
a. laughter, charity, good words not condemning 
b. Truth, veracity, lie, calmness 
c. Hospitality, humility, self-respect, pride  
d. Learnedness, duty, help, friendship 
e. Answer not known 
‘tha;ikf; Fbf;F’ chpad vit? 
a. eif> <if> ,d;nrhy;> ,fohik 
b. cz;ik> tha;ik> ngha;ik> jd;ik 
c. tpUe;Njhk;gy;> gzpT> khdk;> ngUik 
d. rhd;whz;ik> flik> cjtp> el;G 
e. tpil njhpatpy;iy 

 
36. Who is called as “Madhanubangi”? 

a. Thirumoolar  b. Thirunavukkarasar c. Thirugnanasambandar 
d. Thiruvalluvar  e. Answer not known 
‘khjhDgq;fp’ – vd;W miof;fg;gLgth; ahh;? 
a. jpU%yh;   b. jpUehTf;furh;  c. jpUQhdrk;ge;jh; 
d. jpUts;Sth;  e. tpil njhpatpy;iy 
 

37. Who said “Annaium Pithavum Munari Theivam”? 
a. Avvaiyaar   b. Athi Veerarama Pandiar  c. Ulaganathar 
d. Bharathiar   e. Answer not known 
“md;idAk; gpjhTk; Kd;dwp nja;tk;” vd;W $wpath; ahh; 
a. xsitahh;   b. mjptPuuhk ghz;bah;  c. cyfehjh; 
d. ghujpahh;   e. tpil njhpatpy;iy 
 

38. The province of Mohammed Bin Tughlaq’s empire in the valley of the Tapti river was 
a. Daulatabad  b. Khandesh    c. Kashmir 
d. Nanderbar   e. Answer not known 
jg;jp Mw;wpd; Nky; mike;Js;s KfkJ gpd; Jf;sf;fpd; ve;j khfhzk;? 
a. jtshjghj;  b. fhz;Nl~;   c. fh~;kPh; 
d. ee;jhh;ghh;   e. tpil njhpatpy;iy 
 

39. Which one of the statement is incorrect regarding Samudragupta? 
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(i) He was the third ruler of the Gupta dynasty 
(ii) His territory extended from Himalayas to river Narmada 
(iii) He assumed the title of Maharajadhiraja 
(iv) He printed six different types of coins. 
a. (i), (iv) only  b. (i), (iii) only  c. (i), (ii) only 
d. (i), (ii), (iii) only  e. Answer not known 
fPo;fz;l $w;Wfspy; rKj;jpu Fg;jiug; gw;wpa gjpy; jtwhd $w;W vJ? 
(i) Fg;j Nguurpy; rKj;jpuFg;jh; %d;whtJ Ml;rpahsh; Mthh;. 
(ii) ,tUila Ml;rp gFjp ,kakiy Kjy; eh;kij tiu gutpapUe;jJ. 
(iii) ,th; kfhuh[hjp uh[h vd;w gl;lj;ij ngw;wpUe;jhh;. 
(iv) ,th; MW tpjkhd ehzaq;fis mr;rbj;J ntspapl;lhh; 
a. (i), (iv) kl;Lk;   b. (i), (iii) kl;Lk;  c. (i), (ii) kl;Lk; 
d. (i), (ii), (iii) kl;Lk;   e. tpil njhpatpy;iy 
 

40. Question are of matching type question select the correct answer from the codes given 
below: 
List - I     List - II 
A. Samudragupta   1. Paharpur Copper Plate 
B. Chandragupta II   2. Eran Stone Pillar 
C. Buddhagupta   3. Udayagiri Caves 
D. Skandagupta   4. Junagarh Rock 
 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 2 1 4 3 
e. Answer not known 
nfhLf;fg;gl;bUf;Fk; ml;ltizia nghUj;Jf. 
 ml;ltiz – I  ml;ltiz – II 
A. r%j;jpuFg;jh;   1. gfhh;Gh; nrg;G gl;lak; 

B. re;jpuFg;jh; II   2. <uhd; fy; J}z; 
C. Gj;jFg;jh;    3. cjafphp Fif 
D. ];fe;jFg;jh;   4. [_zhfh; ghiw 
 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

41. ‘Incase of the Indian national congress party were put into power in 1946, the result 
would be the declaration of complete independence by Bengal and the setting up of a 
parallel government’. Who said this? 
a. Mohammad Ali Jinnah    b. Maulana Abul Kalam Azad 
c. Suhrawardy     d. Liaquat Alikhan 
e. Answer not known 
1946 y; ,e;jpa Njrpa fhq;fpu]; fl;rpaplk; mjpfhuk; jug;gLNkahdhy; mjd; tpisT 
tq;fhsj;jpy; G+h;z Rje;jpuk; mwptpg;gJ kl;Lkpd;wp Xh; ,izahd murhq;fk; 
mikf;fg;gLk; vd;W ahh; $wpaJ? 
a. KfkJ myp[pd;dh    b. nksyhdh mGy; fyhk; Mrhj; 



 

12 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

c. R`;uth;jp      d. ypahfj; mypfhd; 
e. tpil njhpatpy;iy 
 

42. The Social reformer who represented a synthesis of the thought of East and West 
a. Rajaram Mohan Roy    b. Swami Vivekananda 
c. Dayananda Saraswathi    d. Sir Syed Ahmed Khan 
e. Answer not known 
Nkw;F kw;Wk; fpof;fj;jpa jj;Jtf; fyg;ig vLj;Jiuj;j ,e;jpa r%f rPh;jpUj;jthjp 
ahh;? 
a. ,uh[huhk; Nkhfd; uha;    b. Rthkp tpNtfhde;jh; 
c. jahde;j ruRtjp     d. rh; iraJ mfkJ fhd; 
e. tpil njhpatpy;iy 
 

43. Which of the following statement about Ayothidasa panditar true? 
(i) He founded Adi Dravida Mahajana Shabha 
(ii) He established Sakya Buddhist Society 
(iii) He joined servants of untouchables society 
(iv) He published ‘One Paise Tamilan’ News Paper 
a. (i) and (ii)   b. (i) and (iv)   c. (ii) and (iv) 
d. (iii) and (iv)  e. Answer not known 
ve;jf; $w;Wfs; mNahj;jpjhr gz;bjh; gw;wpr; rhpahdJ? 
(i) mth; Mjpjpuhtpl kfh[d rigia cUthf;fpdhh; 
(ii) mth; ‘rhf;fpa ngsj;j r%fk;’ vd;w mikg;ig cUthf;fpdhh; 
(iii) mth; jPz;ljfhNjhh; Copah; rq;fj;jpy; Nrh;e;jhh; 
(iv) mth; ‘xU igrh jkpod;’ vd;w nra;jpj; jhis ntspapl;lhh;. 
a. (i) kw;Wk; (ii)  b. (i) kw;Wk; (iv)  c. (ii) kw;Wk; (iv) 
d. (iii) kw;Wk; (iv)  e. tpil njhpatpy;iy 
 

44. It was at this state that the communalists declared that Muslims ‘Muslim culture’ and 
Islam and Hindus, ‘Hindu culture’ and Hinduism were in danger of being suppressed 
and exterminated. It was also at this stage that both the Muslim and Hindu 
Communalists put forward the theory that Muslims and Hindu constituted separate 
nations whose mutual antagonism was permanent and irresolvable. The Muslim 
League and the Hindu Mahasabha after 1937 and the Rashtriya Swayamsevak Sangh 
(RSS) increasingly veered towards exteme or Fascistic communalists. 
Which one of the following is best implied in the passage. 
a. Separate nations for Hindus and Muslims were felt 
b. The Muslim League; Hindu Mahasabha and the Rashtriya Swayamsevak Sangh 

were responsible for the extreme communalism 
c. Communalists of both groups suspected each other for the development of 

communism 
d. People of both religions realized that country and national welfare were greater than 

religion. 
e. Answer not known 
,e;J epiyapy;jhd; K];ypk;fs; kw;Wk; K];yPk; fyhr;rhuk;> ,e;Jf;fs; ,e;J kjk; 
kw;Wk; ,e;J fyhr;rhuk; xLf;fg;gl;L mopf;fg;gLk; mghaj;jpy; ,Ug;gjhf tFg;Gthjpfs; 
mwptpj;jdh;. K];yPk; kw;Wk; ,e;J tFg;Gthjpfs; ,UtUk; gu];gu tpNuhjkhd> 
epue;jukhd kw;Wk; jPh;f;f Kbahj jdpj;jdp Njrq;fis mikj;jdh; vd;w Nfhl;ghl;il 
,e;j fl;lj;jpd; jhd; Kd;itj;jdh;. 1937 f;Fg; gpwF K];yPk; yPf;> ,e;J kfhrgh kw;Wk; 
uh~;l;hpa ];tak; Nrtf; rq;fk; (Mh;.v];.v];) Mfpait jPtpu my;yJ ghrpr 
tFg;Gthjj;ij Nehf;fp ngUfpa Kiwapy; rha;e;jd. 
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gpd;tUtdtw;wpy; vJ gj;jpapy; rpwg;ghff; Fwpg;gplg;gLfpwJ? 
a. ,e;Jf;fSf;Fk;> K];yPk;fSf;Fk; jdp Njrq;fs; czug;gl;ld. 
b. K];yPk; yPf;> ,e;J kfh rgh kw;Wk; uh~;l;hpa ];tak; Nrtf; rq;fk; Mfpait ghrpr 

tFg;Gthjj;jpw;F fhuzkhf ,Ue;jd. 
c. ,U FOf;fspd; tFg;GthjpfSk; fk;A+dprj;jpd; tsh;r;rpf;fhf xUtiunahUth; 

re;Njfpj;jdh;. 
d. kjj;ij tpl ehLk;> ehl;L eyDk; nghpaJ vd;gij ,U kjj;jpdUk; czh;e;jdh;. 
e. tpil njhpatpy;iy 
 

45. Which tribal uprising is known as ‘Ulgulan’? 
a. Santhal Rebellion   b. Kol Uprising  c. Munda Rebellion 
d. Sanyasi Rebellion   e. Answer not known 
ve;jg; goq;Fbapd kf;fspd; fpsh;r;rp ‘cy;Fyhd;’ vd;W mwpag;gLfpwJ? 
a. re;jhy; fpsh;r;rp   b. Nfhy;fspd; fpsh;r;rp c. Kz;lh fpsh;r;rp 
d. re;epahrp fpsh;r;rp   e. tpil njhpatpy;iy 
 

46. The British Cabinet Mission was headed by ____ in the year 1946. 
a. Sir Stafford Cripps  b. A.V. Alexandar  c. Clement Attlee 
d. Pethick Lawrence  e. Answer not known 
1946k; Mz;L gphpl;b~; mikr;ruit FOtpw;F ____ vd;gth; jiyikNaw;whh;. 
a. rh;. ];lhNghh;   b. A.V. mnyf;rhe;jh; c. fpskd;l; ml;yp 
d. ngjpf; yhud;];   e. tpil njhpatpy;iy 
 

47. Name the youngest person, who was elected as the president of the Indian National 
congress in 1923? 
a. Motilal Nehru   b. Abul Kalam Azad c. Lala Lajpat Rai 
d. M. M. Malaviya   e. Answer not known 
1923-,y; ,sk; tajpy;> ,e;jpa Njrpa fhq;fpurpd; jiytuhfj; Njh;e;njLf;fg;gl;l eghpd; 
ngaiuf; Fwpg;gpLf. 
a. Nkhjpyhy; NeU   b. mGy;fyhk; Mrhj; c. yhyh y[;gj; uha; 
d. vk;.vk;. khstpah   e. tpil njhpatpy;iy 
 

48. The traffic lights at three different road junctions change after every 40 seconds, 60 
seconds and 72 seconds respectively. If they changed simultaneously together at 8 a.m. 
at what time will they simultaneously change together again? 
a. 8.40 a.m b. 9.06 a.m c. 8.06 a.m d. 8.6 a.m  e. Answer not known 
%d;W Nghf;Ftuj;J re;jpg;Gfspy; cs;s nehpry; tpsf;Ffs; xt;nthd;Wk; KiwNa 40 
tpehbfspy;> 60 tpehbfspy;> 72 tpehbfspy; xsph;fpd;wd. mt;tpsf;Ffs; midj;Jk; 
fhiy 8 kzpf;F xd;whf xsph;e;jd vdpy; kPz;Lk; mit vg;NghJ xd;whf xspUk;? 
a. 8.40 a.m b. 9.06 a.m c. 8.06 a.m d. 8.6 a.m  e. tpil njhpatpy;iy 
 

49. A tank can hold 50 litres of water. At present only 30% of the tank is filled. How many 
litres of water is required to fill 50% of the tank 
a. 5 ltr  b. 10 ltr c. 15 ltr d. 25 ltr e. Answer not known 
xU jz;zPh;j; njhl;bapd; nfhs;ssT 50 ypl;lh;fs; MFk; jw;NghJ mjpy; 30% jz;zPh; 
epuk;gpAs;sJ vdpy;> mjpy; 50% jz;zPh; epiwa ,d;Dk; vj;jid ypl;lh;fs; Njit? 
a. 5 ypl;lh;   b. 10 ypl;lh;   c. 15 ypl;lh; 
d. 25 ypl;lh;   e. tpil njhpatpy;iy 
 

50. If A → 1, B → 2, C → 3 …. Z → 26 
H.C.F of (I, X) : L.C.M. of (C, P) = ? 
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A → 1, B → 2, C → 3 ..... Z → 26  
a. 16 : 1 b. 3 : 2  c. 1 : 16 d. 2 : 3  e. Answer not known 
vd kjpg;Gf; nfhz;lhy; 
kP.ngh.t. (I, X) : kP.rp.k (C, P) =? 
a. 16 : 1 b. 3 : 2  c. 1 : 16 d. 2 : 3  e. tpil njhpatpy;iy 
 

51. Find the 21st term of an A.P 2, 3½, 5, 6½, ….. 
a. 32  b. 30½  c. 28  d. 31½  e. Answer not known 
2, 3½, 5, 6½, …..vd;w $l;Lj; njhlh; thpirapd; 21 tJ cWg;G fhz;f. 
a. 32  b. 30½  c. 28  d. 31½  e. tpil njhpatpy;iy 
 

52. Find the sum of first 28 terms of an Arithmetic progression (A.P) whose nth term  is 4n – 
3. 
a. 1045 b. 1054 c. 1450  d. 1540 e. Answer not known 
xU $l;Lj;njhlh; thpirapd; n-tJ cWg;G 4n  - 3 vdpy; mjd; Kjy; 28 cWg;Gfspd; 
$Ljy; fhz;f. 
a. 1045 b. 1054 c. 1450  d. 1540 e. tpil njhpatpy;iy 
 

53. The temperature at 12 noon at certain place was 18 above zero. If it decreases at the 

rate of 3 per hour at what time it would be 12 below zero? 
a. 12 mid night   b. 12 noon   c. 10 a.m 
d. 10 p.m    e. Answer not known 

ez;gfy; 12 kzpf;F xU ,lj;jpd; ntg;gepiy G+[;[aj;ij tpl 18C mjpfk; MFk;. 

ntg;gepiy kzpf;F 3C tPjk; Fiwe;jhy; vj;jid kzpf;F mt;tplj;jpd; ntg;gepiy 

G+[;[paj;ij tpl 12C Fiwthf ,Uf;Fk;? 
a. 12 es;spuT  b. 12 ez;gfy;  c. 10. K.g. 
d. 10 gp.g   e. tpil njhpatpy;iy 
 

54. If a mirror is placed below the word HIDE, what word will you see? 

a.  b.  c. HIDE d.  e. Answer not known 
HIDE vd;w nrhy;ypd; fPo;g;gFjpapy; Mbia itj;jhy; fpilf;Fk; nrhy;ypd; tbtk; 
ahJ? 
a.  b.  c. HIDE d.  e. tpil njhpatpy;iy 
 

55. A and B under take to do a piece of work for Rs. 1200. A alone can do it in 8 days, while 
B can do it in 6 days. With the help of C, they complete it in 3 days. Find C’s share? 
a. Rs. 150 b. Rs. 100 c. Rs. 450 d. Rs. 300 e. Answer not known 
xU Ntiyia A kw;Wk; B ,UtUk; &. 1200 f;F nra;J Kbf;f vz;zpdh;. 
mt;Ntiyia A kl;Lk; jdpahf 8 ehl;fspYk;> B kl;Lk; jdpahf 6 ehl;fspy; nra;J 
Kbg;gh;. jw;NghJ mt;Ntiyia A kw;Wk; B ,UtUk; C vd;gtUld; ,ize;J 3 
ehl;fspy; nra;J Kbj;jdh; vdpy; C vd;gtUf;F fpilf;Fk; $ypj; njhif ahJ? 
a. &. 150 b. &. 100 c. &. 450 d. &. 300 e. tpil njhpatpy;iy 
 

56. If 6 men or 8 women can finish a work in 12 days. In how many days 9 men and 12 
women will finish the work? 
a. 4 days b. 3 days c. 6 days d. 5 days e. Answer not known 
6 Mz;fs; (m) 8 ngz;fs; xU Ntiyia 12 ehl;fspy; Kbg;ghh;fs; vdpy; 9 
Mz;fSk; 12 ngz;fSk; mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;? 
a. 4 ehl;fs;   b. 3 ehl;fs;    c. 6 ehl;fs;   
d. 5 ehl;fs;   e. tpil njhpatpy;iy 
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57. A solid sphere of radius x cm is melted and cast into a sphere of a solid cone of same 

radius. The height of the cone is 
a. 3x cm b. x cm c. 4x cm d. 2x cm e. Answer not known 
x nr.kP MuKs;s xU jpz;kf; Nfhsk; mNj MuKs;s xU $k;ghf khw;wg;gLfpwJ vdpy; 
$k;gpd; cauk;. 
a. 3x nr.kP2 b. x nr.kP c. 4x nr.kP d. 2x nr.kP e. tpil njhpatpy;iy 
 

58. Find the volume (in cm3) of the greatest sphere that can be cut from a cylindrical log of 
wood of radius 1cm and height 5 cm. 

a. 
4

3
   b. 

10

3
  c. 5   d. 

20

3
  e. Answer not known 

1 nr.kP MuKk; 5 nr.kP cauKk; nfhz;l xU ku cUisapypUe;J mjpfgl;rf; 
fdmsT nfhz;l Nfhsk; ntl;b vLf;fg;gLfpwJ vdpy; mjd; fd msT (f.nrkPy;) 
fhz;f. 

a. 
4

3
   b. 

10

3
  c. 5   d. 

20

3
  e. tpil njhpatpy;iy 

 
59. One side of a right-angled triangle is twice the other, and the hypotenuse is 10 cm. The 

area of the triangle is 

a. 20 cm2 b. 21
33

3
cm   c. 40 cm2 d. 50 cm2 e. Answer not known 

xU nrq;Nfhz Kf;Nfhzj;jpd; xU gf;fk; kw;wjd; ,Uklq;fpw;F rkk; kw;Wk; 
fh;zj;jpd; msT 10 nr.kP vdpy; mk;Kf;Nfhzj;jpd; gug;gsT 

a. 20 nr.kP2 b. 
1

33
3
 nr.kP2  c. 40 nr.kP2 d. 50 nr.kP2 e. tpil njhpatpy;iy 

 
60. The difference between compound and simple interest on a certain sum of money for 2 

years at 2% p.a is `. 1 the sum of money is 
a. Rs. 2,000   b. Rs. 1,500   c. Rs. 3,000 
d. Rs. 2,500   e. Answer not known 
2% Mz;L tl;bapy; 2 Mz;LfSf;F Xh; mrYf;Ff; fpilf;Fk; $l;Ltl;bf;Fk; 
jdptl;bf;Fk; ,ilNaAs;s tpj;jpahrk; &. 1 vdpy; mry; MdJ ____ MFk;. 
a. &. 2>000   b. &. 1>500   c. &. 3>000 
d. &. 2>500   e. tpil njhpatpy;iy 
 

61. Find the principal, if the amount compounded annually for two years at the rate of 10% 
per annum is Rs. 6,050 
a. Rs. 3,025   b. Rs. 3,500   c. Rs. 4,000 
d. Rs. 5,000   e. Answer not known 
Xh; mryhdJ> 2 Mz;Lfspy;> Mz;Lf;F 10% $l;Ltl;btPjk; $Ljy; &.6>050 Mf MfpwJ 
vdpy; mriyf; fhz;f. 
a. &. 3,025   b. &. 3>500   c. &. 4>000 
c. &. 5>000   e. tpil njhpatpy;iy 
 

62. The difference between simple interest and compound interest on Rs. 1,500 for one year 
at 10% per annum reckoned half yearly is 
a. Rs. 3.50 b. Rs. 3.25 c. Rs. 3.75 d. Rs. 3.80 e. Answer not known 
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&. 1>500 f;F 10% Mz;L tl;bapy;> miuahz;Lf;F xU Kiw tl;bf; fzf;fplg;gl;lhy; 
Xh; Mz;Lf;F fpilf;Fk; $l;L tl;bf;Fk;> jdptl;bf;Fk; ,ilNa cs;s tpj;jpahrj;ijf; 
fhz;f. 
a. &. 3.50 b. &. 3.25 c. &. 3.75 d. &. 3.80 e. tpil njhpatpy;iy 
 

63. Anita took a loan of Rs. 9,000 from a money lender, who charged interest at the rate of 
15% per annum. After 3 years, Anita paid him Rs. 12,500 and a wrist watch to clear the 
debt. What is the price of the watch? 
a. Rs. 600 b. Rs. 550 c. Rs. 500 d. Rs. 450 e. Answer not known 
mdpjh &. 9>000-I tl;bf; filf;fhuhplk;> Mz;L tl;btPjk; 15% f;F fldhfg; ngw;whs;. 
3 Mz;Lfs; fopj;J &. 12>500 kw;Wk; xU iffbfhuj;ijf; nfhLj;J mf;flid 
milj;jhs; vdpy;> me;j iffbfhuj;jpd; tpiy vd;d? 
a. &. 600 b. &. 550 c. &. 500 d. &. 450 e. tpil njhpatpy;iy 
 

64. A and B can do a piece of work in 12 days and 20 days respectively. They started to 
work together and B left after some days of work and A finished the remaining work in 
4 days. After how many days from the start did B leave? 
a. 8  b. 7  c. 6  d. 5  e. Answer not known 
A kw;Wk; B MfpNahh; xU Ntiyia KiwNa 12 kw;Wk; 20 ehl;fspy; Kbg;gh;. mth;fs; 
,UtUk; xd;whf Nrh;e;J Ntiyiaj; njhlq;fpdh;. rpy ehl;fs; Ntiy nra;j gpwF  B 
Mdth; nrd;W tpLfpwhh;. kPjKs;s Ntiyia A Mdth; 4 ehl;fspy; Kbf;fpwhh; vdpy; 
njhlq;fpajpypUe;J vj;jid ehl;fSf;F gpwF B Ntiyia tpl;L nrd;whh;? 
a. 8  b. 7  c. 6  d. 5  e. tpil njhpatpy;iy 
 

65. If x : y = 2:3 find the value of (3x + 2y) : (2x + 5y) 
a. 2 : 3  b. 19 : 12 c. 3 : 2  d. 12 : 19 e. Answer not known 
x : y = 2: 3 vdpy; (3x + 2y) : (2x + 5y) d; kjpg;G fhz;f. 
a. 2 : 3  b. 19 : 12 c. 3 : 2  d. 12 : 19 e. tpil njhpatpy;iy 
 

66. Find the LCM of the given polynomials 5x2 – 10x, x2 – 4, (x - 2)2 
a. 5x (x2 – 2x) (x - 2)2  b. 5x(x2 + 2x)(x - 2)2  c. 5(x2 + 2x)(x - 2)2 

d. 5(x2 - 2x)(x - 2)2  e. Answer not known 
nfhLf;fg;gl;l gy;YWg;Gf; Nfhitfspd; kP.ngh.k. – I fhz;f 5x2 – 10x, x2 – 4, (x - 2)2 

a. 5x (x2 – 2x) (x - 2)2  b. 5x(x2 + 2x)(x - 2)2  c. 5(x2 + 2x)(x - 2)2 

d. 5(x2 - 2x)(x - 2)2  e. tpil njhpatpy;iy 
 

67. Three numbers are in the ratio 2 : 3 : 5 and their L.C.M is 900, then their HCF is equal to 
a. 30  b. 60  c. 90  d. 150  e. Answer not known 
%d;W vz;fs; 2 : 3 : 5 vd;w tpfpjj;jpy; mike;Js;sJ> mjd; kP.rp.k 900 vdpy; 
mtw;wpd; kP.ngh.t ahJ? 
a. 30  b. 60  c. 90  d. 150  e. tpil njhpatpy;iy 
 

68. GCD of x3 – 27, (x - 3)2, x2 – 9 is 
a. x – 3   b. x + 3   c. x2 + 3x + 9   
d. None of these  e. Answer not known 
x3 – 27, (x - 3)2, x2 – 9 -fspd; kPg;ngU nghJ tFj;jp (GCD) _____ MFk;. 
a. x – 3    b. x + 3   c. x2 + 3x + 9   
d. ,itfspy; vJTk; ,y;iy e. tpil njhpatpy;iy 
  

69. HCF of 25 ab3 c, 100 a2bc, 125 abc is 
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a. 25 abc b. 53 abc c. 25 a2bc d. 25 ab2c e. Answer not known 
25 ab3 c, 100 a2bc, 125 abc -d; kP.ngh.fh. _____ MFk;. 
a. 25 abc b. 53 abc c. 25 a2bc d. 25 ab2c e. tpil njhpatpy;iy 
 

70. During Aadi sale the price of shirt decreases from Rs. 90 to Rs.50. What is the 
percentage of decrease? 

a. 40%  b. 
4

44 %
9

 c. 50%  d. 44%  e. Answer not known 

Mbj;js;Sgb tpw;gidapd; NghJ xU rl;il tpiy &.90 ,ypUe;J &.50 Mff; 
Fiwe;jJ vdpy; Fiwtpd; rjtPjk; 

a. 40%  b. 
4

44 %
9

 c. 50%  d. 44%  e. tpil njhpatpy;iy 

 
71. What percent of 25 kg is 3.5 kg? 

a. 41%  b. 14% c. 140% d. 5%  e. Answer not known 
25 fpfp-y; 3.5 fpfp vj;jid rjtPjk; 
a. 41%  b. 14% c. 140% d. 5%  e. tpil njhpatpy;iy 
  

72. Ram bought 36 mangoes, 5 mangoes were rotten. What is the percentage of the 
mangoes that were rotten? 
a. 31.88% b. 13.88% c. 13.89% d. 13.7% e. Answer not known 
uhk; thq;fpa 36 khk;goq;fspy; 5 khk;goq;fs; mOfptpl;ld vdpy;> mOfpa 
khk;goq;fspd; rjtPjj;ijf; fhz;f. 
a. 31.88% b. 13.88% c. 13.89% d. 13.7% e. tpil njhpatpy;iy 
 

73. Gray is the unit of 

a. Range of -particles b. Radiation dosage c. Number of disintegrations 
d. Half life of a substance e. Answer not known 
fPo;f;fz;ltw;Ws> “fpNu” vd;gJ vjd; myF? 
a. -Jfs;fspd; tPr;R b. fjph;tPr;rpd; msT  c. rpijTfspd; vz;zpf;if 
d. xU nghUspd; miu MAs; e. tpil njhpatpy;iy 
 

74. The number of chromosomes found in ‘Turner syndrome’ is 
a. 44  b. 45  c. 46  d. 47  e. Answer not known 
‘lh;dh; rpd;l;Nuhkpy;’ fhzg;gLk; FNuhNkhNrhk;fspd; vz;zpf;if 
a. 44  b. 45  c. 46  d. 47  e. tpil njhpatpy;iy 
 

75. Which one of the following is the most effective method to develop conceptual learning 
in student? 
a. Understood on their own  b. Memorize the concept 
c. Reasoning by comparison  d. Punishment until acquiring the concept 
e. Answer not known 
fPNo nfhLf;fg;gl;ljpy; vJ fUj;Jf; fw;wy; Kiwia Nkk;gLj;j cjTfpwJ? 
a. Rakhf Ghpe;J nfhs;s typAWj;jy;  
b. fUj;ij kdg;ghlk; nra;a nrhy;Yjy; 
c. xg;gpl;L fhuzq;fisf; $Wjy;  
d. fUj;ij milAk; tiu jz;lid toq;Fjy; 
e. tpil njhpatpy;iy 
 

76. Genetic drift is also called as 
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a. Sewall Wright effect  b. Founder principle c. Gene flow   
d. Crossing over   e. Answer not known 
kugZ ngah;r;rp ____ vd;Wk; miof;fg;gLfpwJ. 
a. rPthy; iul; tpisT  b. /gTz;lh;]; Nfhl;ghL c. kugZ Xl;lk; 
d. FWf;nfjph; khw;wk;  e. tpil njhpatpy;iy 
 

77. Which is an example of sex linked inheritance in man? 
a. Tuberculosis  b. Typhoid   c. Nausea 
d. Haemophilia  e. Answer not known 
,tw;wpy; vJ ghypdtop kuGNgw;wpd; cjhuzkhFk;? 
a. fhrNeha;   b. ilgha;L   c. ehrpah 
d. P̀Nkhgpypah  e. tpil njhpatpy;iy 
 

78. Match the following: 
Case Law     Subject 
A. Aruna Roy Vs Union of India  1. Compulsory teaching of Environmental 
       Education 
B. Government of India Vs George  2. Striking down the Institutional Reservation 

Philip       
C. M.C. Metha Vs Union of India  3. The validity of National Curriculum for 
       school was challenged 
D. AIIMS Student Union Vs AIIMS 4. Case of compulsory retirement from service 
 A B C D 
a. 1 2 3 4 
b. 4 2 3 1 
c. 3 1 2 4 
d. 3 4 1 2 
e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
rl;l tof;F     nghUs; 
A. mUzh uha; Vs ,e;jpa xd;wpak; 1. Rw;Wr;#oy; fy;tp fl;lhakhf mwptpg;G 
B. ,e;jpa muR Vs [hh;[; gpypg;  2. epWtd ,l xJf;fPL ,y;iy vd mwptpg;G 
C. M.C. Nkj;jh Vs ,e;jpa xd;wpak; 3. Gs;spfSf;fhd Njrpa fy;tp Gyk; 
       nry;yj;jf;fjh vDk; tof;F 
D. AIIMS khzth; rq;fk; Vs AIIIMS 4. gzpapy; ,Ue;J fl;lha Xa;T tof;F 
 A B C D 
a. 1 2 3 4 
b. 4 2 3 1 
c. 3 1 2 4 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

79. The fertilizer which contain highest nitrogen content is 
a. Ammonium sulphate  b. Calcium ammonium nitrate  c. Urea 

d. Sodium nitrate   e. Answer not known 
mjpf msT iel;u[id cs;slf;fpa cuk; ____ MFk;. 
a. mk;Nkhdpak; ry;/Ngl;    b. fhy;rpak; mk;Nkhdpak; iel;Nul; 
c. A+hpah      d. Nrhbak; iel;Nul; 
e. tpil njhpatpy;iy 
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80. In winter, why do birds sit with their wings spread out? 
a. To enclose a lot of air    b. to receive heat energy from sun 
c. To make balance in winter   d. None of the above 
e. Answer not known 
Fsph;fhyq;fspy;> Vd; gwitfs; jdJ rpwif tphpj;Jf; nfhz;L mkh;fpwJ? 
a. mjpf fhw;iw cs;slf;f   b. #hpadpypUe;J ntg;g Mw;wiy ngw 
c. Fsph;fhyj;ij rkepiy nra;a   d. ,tw;wpy; VJkpy;iy 
e. tpil njhpatpy;iy 
 

81. Which of the following is wrongly paired? 
1. National Dairy Development Board - NDDB 
2. National Food Development Board - NFDB 
3. Indian Council of Art Research - ICAR 
4. Tamil Nadu Electricity Board  - TNEB 
a. 1 and 3 are correct  b. 1 and 4 are correct c. 2 and 4 are correct 
d. 3 and 4 are correct  e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
1. Njrpa ghy;th Nkk;ghL thhpak; -  NDDB 
2. Njrpa czT Nkk;ghL thhpak; - NFDB 
3. ,e;jpa fiy Muha;r;rp rig  - ICAR 
4. jkpo;ehL kpd;rhu thhpak;  - TNEB 
a. 1 kw;Wk; 3 rhpahdit     b. 1 kw;Wk; 4 rhpahdit 
c. 2 kw;Wk; 4 rhpahdit     d. 3 kw;Wk; 4 rhpahdit 
e. tpil njhpatpy;iy 
 

82. Arrange the following Presidents of India in chronological order. 
1. K.R. Narayanan 
2. Dr. A.P.J. Abdul Kalam 
3. Dr. Shankar Dayal Sharma 
4. R. Venkataraman 
a. 2, 4, 1, 3    b. 3, 2. 1, 4   c. 4, 3, 1, 2 

d. 1, 3, 4, 2    e. Answer not known 
fhy mbg;gilapy; thpirg;gLj;Jjy;. 
gpd;tUk; [dhjpgjpfis mth;fspd; gjtpf;fhy mbg;gilapy; thpirg;gLj;Jf. 
1. K.R. ehuhazd; 
2. Dr. A.P.J. mg;Jy; fyhk; 
3. Dr. rq;fh;jahs; rh;kh 
4. R. ntq;fl;uhkd; 
a. 2, 4, 1, 3    b. 3, 2. 1, 4   c. 4, 3, 1, 2 

d. 1, 3, 4, 2    e. tpil njhpatpy;iy 
  

83. Identify the personality: 
1. She has been appointed as the “first woman Director General of Council of Scientific 

and Industrial Research (CSIR) 
2. She is an Electrochemical Scientist 
a. Sellappan Nirmala     b. Nallathamby Kalaiselvi  
c. T.S. Kanaka      d. Radha Balakrishnan 
e. Answer not known 
ahh; vd milahsk; fhz;f: 
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1. ,th;> mwptpay; kw;Wk; njhopy;Jiw Muha;r;rp fTd;rpypd; Kjy; ngz; jiyik 
,af;fFdh; Mthh;. 

2. ,th; xU vyf;l;Nuh nfkpf;fy; tpQ;Qhdp 
a. nry;yg;gd; eph;kyh  b. ey;yjk;gp fiyr;nry;tp  c. b.v];. Fdfh 
d. ,uhjh ghyfpU~;zd;  e. tpil njhpatpy;iy 
 

84. Which one of the following is launched to promote inter-ministerial, inter-sectoral 
convergence to create gender equitable and child centered legislation, policies and 
programmes? 
a. Mission Vatsalya   b. Mission Shakti  c. Mission Sambal 
d. Mission Samarthya  e. Answer not known 
gpd;tUtdtw;Ws; vJ gy mikr;rfq;fisAk;> gy JiwfisAk; xd;wpize;j 
nray;ghl;il cUthf;fp ghypd rkj;Jtj;ijAk;> Foe;ijfis ikakhff; nfhz;l 
rl;lq;fisAk; nfhs;iffisAk; jpl;lq;fisAk; tFg;gjw;fhf epWtg;gl;lJ? 

 a. thj;ry;ah ,af;fk;  b. rf;jp ,af;fk;  c. rk;gy; ,af;fk; 
 d. rhkh;j;jpa ,af;fk;  e. tpil njhpatpy;iy 
 
85. The main aims of Deendayal Antyodaya Yojana National Rural Livelihoods Mission are 

(i) To reduce poverty by enabling poor households 
(ii) To develop profitable self-employment and skilled wage employment 

opportunities 
(iii) To improve income and quality of life 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (iii) and (i) only 
d. (i), (ii) and (iii)   e. Answer not known 
jPd;jahs; mz;l;Nahja Nah[dh – Njrpa fpuhkGw tho;thjhug; gzpapd; Kf;fpa 
Nehf;fq;fs; : 
(i) tWikiaf; Fiwj;J Viof; FLk;gq;fisr; nray;gLj;Jtjw;F 
(ii) Mjhakhd Ranjhopy; kw;Wk; jpwikahd $yp Ntiy tha;g;Gfs; cUthf 
(iii) tUkhdk; kw;Wk; tho;f;ifj; juj;ij Nkk;gLj;j 
a. (i) kw;Wk; (ii)   b. (ii) kw;Wk; (iii)  c. (iii) kw;Wk; (i) 
d. (i), (ii) kw;Wk; (iii)   e. tpil njhpatpy;iy 
 

86. EOS-04 Earth Observation Satellite was injected by India’s ____ rocket 
a. PSLV – C53   b. PSLV – C52  c. PSLV – C51 
d. PSLV – C50   e. Answer not known 
‘Gtp’ fz;fhzpg;G nraw;iff;Nfhs; ,e;jpahtpd; _____ uhf;nfl; %yk; nrYj;jg;gl;lJ. 
a. PSLV – C53   b. PSLV – C52  c. PSLV – C51 
d. PSLV – C50   e. tpil njhpatpy;iy 
 

87. A recently discovered fossil “Ecophylica Priscastellate” from Myanmar was a 
a. Butterfly    b. Fern   c. Flower 

d. Rhinoceros   e. Answer not known 
mz;ikapy; kpahd;khpy; fz;lwpag;gl;l njhy;Yaph; “,Nahigypf;fh 
gphp];fh];nly;Nyl;lh” vd;gJ xU 
a. gl;lhk;G+r;rp    b. nguzp   c. kyh; 
c. fhz;lhkpUfk;   e. tpil njhpatpy;iy 
 

88. In soil, the biodegradation process occurs quickest when the content of oxygen in soil’s 
air is 
a. higher than 0.2 mg O2/l     b. higher than 2 mg O2/l 
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c. higher than 0.2 mg/mol     d. higher than 2 mg/mol 
e. Answer not known 
kz;zpy;> kz;zpd; fhw;wpy; Mf;]p[dpd; cs;slf;fk; _____ ,Uf;Fk; NghJ kf;Fk; 
nray;Kiw tpiuthf epfo;fpwJ. 
a. 0.2 mg O2/l mjpfkhf     b. 2 mg O2/l mjpfkhf 
c. 0.2 mg/mol mjpfkhf     d. 2 mg/mol mjpfkhf 
e. tpil njhpatpy;iy 
 

89. Match List-I to List-II and answer using the codes given 
List-I     List-II 
A. Recreational Town  1. Panaji 
B. Administrative Town  2. New Delhi 
C. Industrial Town   3. Jameshedpur 
D. Religious Town   4. Madurai 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 4 3 2 1 
d. 2 4 3 1 
e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;Jf. 
 gl;bay; - I   gl;bay; - II 
A. nghOJNghf;F efuk;  1. gdh[p 
B. eph;thf efuk;   2. GJ nly;yp 
C. njhopy; efuk;   3. [hk;rl;G+h; 
D. rka efuk;   4. kJiu 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 4 3 2 1 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

90. Chhattisgarh and the Bastar region are all the major ____ fields of India. 
a. Iron ore   b. Manganese ore   c. Copper ore 
d. Bauxite ore  e. Answer not known 
,e;jpahtpy; rj;jP];fh; kw;Wk; mjd; g];jh; gFjp _____ cs;s Kf;fpa Gyq;fs; MFk;. 
a. ,Uk;G jhJ  b. khq;fdPR jhJ   c. nrg;G jhJ 
d. ghf;irl; jhJ  e. tpil njhpatpy;iy 
  

91. Narmada Rift valley River in India forms 
a. Delta   b. Estuaries     c. Waterfalls 
d. Cascades   e. Answer not known 
,e;jpahtpy; gpsT gs;sj;jhf;fhd eh;kjh ejp ______ cUthf;Fk;. 
a. fopKfk;   b. Kfj;Jthuk;   c. ePh;tPo;r;rp 
d. njhlh;gL mUtpfs; e. tpil njhpatpy;iy 
 

92. The longest border of India is with 
a. Bangladesh  b. China    c. Pakistan 
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d. Nepal   e. Answer not known 
,e;jpahtpd; ePskhd vy;iy nfhz;l ehL 
a. gq;fshNj~;  b. rPdh    c. ghf;fp];j;jhd; 
d. Neg;ghsk;   e. tpil njhpatpy;iy 
 

93. What was the original name of Alauddin Khilji? 
a. Jamaluddin  b. Jainulabdin   c. Jalaluddin 
d. Ali Gurshap  e. Answer not known 
myhTjpd; fpy;[papd; mry; ngah; vd;d? 
a. [khYj;jPd;  b. i[Dy; Mg;jPd;   c. [yhYj;jPd; 
d. myp Fh;~g;  e. tpil njhpatpy;iy 
 

94. Assertion [A]: The temporary eclipse of the Rajputs facilitated Babur to establish 
    his rule in India. 
Reason [R]:  The Battle of Khanua resulted in the defeat of Rajput confederacy 
a. [A] is true, but [R] is false 
b. Both [A] and [R] are true, and [R] is the correct explanation of [A] 
c. [A] is false, but [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]:  uh[Gj;jpuh;fspd; jw;fhypf tPo;r;rp ghgh; ,e;jpahtpy; jdJ Ml;rpia 
    epiyehl;l cjtpaJ. 
fhuzk; [R]:  fDthg; Nghh; uh[Gj;jpuh;fspd; $l;likg;gpd; Njhy;tpf;F fhuzkhf 
    mike;jJ. 
a. [A] rhp> Mdhy; [R] jtW 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp kw;Wk; [R] vd;gJ [A] tpw;F rhpahd tpsf;fkhFk; 
c. [A] jtW> Mdhy; [R] rhp 
d. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp> Mdhy; [R] vd;gJ [A] tpw;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

95. Assertion [A]: Akbar approached his subjects with liberal ideas. 
Reason [R]:  Akbar’s tutor Abdul Lateef taught the principle of Sulh-I-Kul to 
    Akbar 
a. [A] is true, but [R] is false 
b. Both [A] and [R] are true, and [R] is the correct explanation of [A] 
c. [A] is false, but [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]:  mf;gh; jd; ehl;L kf;fis jhuhsthjf; nfhs;ifAld; mZfpdhh;. 
fhuzk; [R]:  mf;guJ Mrphpah; mg;Jy; yj;jPg; mf;gUf;F my;f;-,-Fy; vd;w 
    nfhs;ifiag; Nghjpj;jhh;. 
a. [A] rhp> Mdhy; [R] jtW 
b. [A] kw;Wk; [R] Mfpa ,uz;Lk; rhp kw;Wk; vd;gJ [R] vd;gJ [A] – tpw;Fr; rhpahd 

tpsf;fkhFk;. 
c. [A] jtW> Mdhy; [R] rhp 
d. [A] kw;Wk; [R] Mfpa ,uz;Lk;> Mdhy; [R] vd;gJ [A] – tpw;Fr; rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

96. Which of these legislation banned Sati and made it Illegal? 
a. Bengal Regulation XXI of 1975  b. Act of 1870 
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c. Sharda Act 1930    d. Regulation Act XVII of December 1829 

e. Answer not known 
ve;jr; rl;lk; rjpiaj; jil nra;jNjhL mijr; rl;ltpNuhjkhdJ vdf; $wpaJ? 
a. tq;fhs xOq;FgLj;Jk; rl;lk; XXI – 1975 
b. 1870 Mk; Mz;Lr; rl;lk; 
c. rhujh rl;lk; 1930 
d. 1829 Mk; Mz;L brk;ghpy; ntspaplg;gl;l xOq;FgLj;Jk; rl;lk; XVII 
e. tpil njhpatpy;iy 
 

97. “Amuktamalyada” the work of Krishnadevaraya deals with the life of 
a. Perialvar    b. Devaraya II  c. Saluva Narashima 
d. Krishnadevaraya   e. Answer not known 
fpU~;z Njtuhahpd; mKf;jkhy;ajh ahUila tho;f;;ifia tpthpf;fpwJ? 
a. nghpaho;thh;   b. ,uz;lhk; Njtuhah; c. rhSt eurpk;kd; 
d. fpU~;zNjtuhah;   e. tpil njhpatpy;iy 
 

98. What was the name given to the Rural officials during the Mauryan administration? 
a. Astonomai    b. Agronomoi  c. Amatyas 
d. Nagarikas    e. Answer not known 
nkshpah; Ml;rp eph;thfj;jpd; fpuhkg;Gw mjpfhhpfs; vt;thW miof;fg;gl;ldh;? 
a. m~;NlhNdhNkha;   b. mf;NuhNdhNkha;  c. mkj;ah;fs; 
d. efhpfh;fs;    e. tpil njhpatpy;iy 
 

99. Assertion [A]: The Gandhara School of Art bears the mark of Hellenistic. 
Reason [R]:  Hinayana form was influenced by that art 
a. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
b. Both [A] and [R] are true and [R] is not correct explanation of [A]. 
c. [A] is true, but [R] is false 
d. [A] is false, but [R] is true 
e. Answer not known 
$w;W [A]:  fhe;jhuh fiyg;ghzp n`ypdp];bf; milahsj;ijf; nfhz;Ls;sJ. 
fhuzk; [R]: ,f;fiyapd; nry;thf;F `Pdahd gphptpy; tsh;e;jJ. 
a. [A] kw;Wk; [R] rhpahdJ [R] vd;gJ [A] apd; rhpahd tpsf;fk;. 
b. [A] kw;Wk; [R] rhpahdJ [R] vd;gJ [A] tpw;F rhpahd tpsf;fky;y 
c. [A] rhp> Mdhy; [R] rhpay;y 
d. [A] jtW> Mdhy; [R] rhp 
e. tpil njhpatpy;iy 
 

100. In connection with Indus valley civilization which of the following is incorrect? 
Material   Site 
(i) Shell  - Nageshwar 
(ii) Lapis Lazuli - Shortughai 
(iii) Carnelian - Oman 
(iv) Steatite  - Rajasthan 
a. (i) only   b. (i) and (ii)   c. (iii) only 
d. (i), (ii) and (iii) only e. Answer not known 
rpe;J rkntsp ehfhpfk; njhlh;ghf vJ jtwhd nghUj;jk; 
nghUs;   efuk; 
(i) rq;F  - ehNf~;th; 
(ii) it^hpak; - ~hh;Lif 
(iii) fhh;dPypad; - Xkd; 
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(iv) ];Bl;ill; - uh[];jhd; 
a. (i) kl;Lk;    b. (i) kw;Wk; (ii)  c. (iii) kl;Lk; 
d. (i), (ii) kw;Wk; (iii) kl;Lk;   e. tpil njhpatpy;iy 

 


